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Estimating Multiplication w/Decimals Name:
Use the decimal placement to estimate the product. Answers
1) 53x3.383=
A. 1,792.9900 B. 17.9299 C.0.1793 . 179.2990 1
2) 0.125x6.32= 2.
A. 7.90000 B. 0.79000 C. 79.00000 .0.00790
3.
3) 2.227%x23= A
A.51.2210 B. 0.0512 C.512.2100 .5.1221 '
5.
4) 0.87 x6.653 =
A. 0.05788 B. 5.78811 C. 578.81100 . 57.88110 6.
5) 3519x595= 7.
A. 2,093.80500 B. 209.38050 C. 0.20938 . 20.93805
8.
6) 8.9x1583= 9
A. 0.1409 B. 1,408.8700 C. 14.0887 . 140.8870 '
10.
7) 4.855x7.29=
A. 353.92950 B. 3,539.29500 C. 35.39295 . 0.35393 11.
8) 1.655x 0.7 = 12
A.0.0116 B. 115.8500 C. 1.1585 . 11.5850
9) 051%x22=
A. 112.200 B.1.122 C. 11.220 .0.011
10) 3.496 % 0.51 =
A. 178.29600 B. 0.01783 C. 17.82960 . 1.78296
11) 5.893x8.2=
A. 483.2260 B. 4,832.2600 C. 48.3226 . 0.4832
12) 4.68x 8.737 =
A. 0.40889 B. 40.88916 C. 408.89160 . 4,088.91600
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Estimating Multiplication w/Decimals

Name: Answer Key

Use the decimal placement to estimate the product.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

5.3x3.383=
A. 1,792.9900

0.125x6.32 =
A. 7.90000

2227 x23=
A. 51.2210

0.87 x 6.653 =
A. 0.05788

3.519%x595=
A. 2,093.80500

8.9x 1.583=
A. 0.1409

4.855 % 7.29 =
A. 353.92950

1.655x 0.7 =
A.0.0116

051x22=
A. 112.200

3.496 x 0.51 =
A. 178.29600

5893 x8.2=
A. 483.2260

4.68 x 8.737 =
A. 0.40889

Answers
B. 17.9299 C.0.1793 . 179.2990 . B
2. B
B. 0.79000 C. 79.00000 .0.00790
3 D
4 B
B. 0.0512 C.512.2100 .5.1221
s. D
B. 5.78811 C. 578.81100 . 57.88110 . C
. _C
B. 209.38050 C. 0.20938 . 20.93805
s _C
o. B
B. 1,408.8700 C. 14.0887 . 140.8870
0. D
B. 3,539.29500 C. 35.39295 .0.35393 11. C
v B
B. 115.8500 C.1.1585 . 11.5850
B.1.122 C. 11.220 .0.011
B. 0.01783 C. 17.82960 . 1.78296
B. 4,832.2600 C. 48.3226 .0.4832
B. 40.88916 C. 408.89160 . 4,088.91600
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